



नाम: \_\_\_\_\_

दिनांक: \_\_\_\_\_ स्कोर: \_\_\_\_\_

$$(3 - \frac{2}{5})^2 + \frac{2}{5} \times 5^2 + \frac{2}{3} =$$

$$((\frac{1}{2})^2 + \frac{1}{3}) \times \frac{3}{2} - (\frac{1}{2} + \frac{1}{5})^2 =$$

$$(\frac{2}{3} + \frac{1}{6})^2 + \frac{1}{2}(\frac{3}{2} + (\frac{1}{2})^2) =$$

$$((\frac{1}{6})^2 + \frac{3}{2}) \times \frac{1}{3} - (\frac{1}{4} - \frac{1}{2})^2 =$$

$$(2 - \frac{3}{5})^2 + \frac{2}{3} \times 3^2 - \frac{3}{4} =$$

$$(\frac{3}{2} - \frac{1}{6})^2 + \frac{1}{6}(\frac{1}{5} - \frac{1}{2}) =$$

$$((\frac{2}{5})^2 - \frac{3}{4}) \times \frac{3}{2} + (\frac{1}{6} + \frac{1}{6})^2 =$$

$$(\frac{1}{3} - \frac{2}{3})^2 - \frac{1}{5}(\frac{1}{5} + (\frac{2}{5})^2) =$$

$$(\frac{1}{2} - \frac{1}{3})^2 - \frac{1}{5}(\frac{1}{4} + \frac{1}{3}) =$$

$$(5 + \frac{1}{2})^2 + \frac{1}{3} + 4^2 + \frac{1}{2} =$$



नाम: \_\_\_\_\_

दिनांक: \_\_\_\_\_ स्कोर: \_\_\_\_\_

$$(3 - \frac{2}{5})^2 + \frac{2}{5} \times 5^2 + \frac{2}{3} = \frac{1307}{75} = 17\frac{32}{75}$$

$$((\frac{1}{2})^2 + \frac{1}{3}) \times \frac{3}{2} - (\frac{1}{2} + \frac{1}{5})^2 = \frac{77}{200}$$

$$(\frac{2}{3} + \frac{1}{6})^2 + \frac{1}{2}(\frac{3}{2} + (\frac{1}{2})^2) = \frac{113}{72} = 1\frac{41}{72}$$

$$((\frac{1}{6})^2 + \frac{3}{2}) \times \frac{1}{3} - (\frac{1}{4} - \frac{1}{2})^2 = \frac{193}{432}$$

$$(2 - \frac{3}{5})^2 + \frac{2}{3} \times 3^2 - \frac{3}{4} = \frac{721}{100} = 7\frac{21}{100}$$

$$(\frac{3}{2} - \frac{1}{6})^2 + \frac{1}{6}(\frac{1}{5} - \frac{1}{2}) = \frac{311}{180} = 1\frac{131}{180}$$

$$((\frac{2}{5})^2 - \frac{3}{4}) \times \frac{3}{2} + (\frac{1}{6} + \frac{1}{6})^2 = (-\frac{1393}{1800})$$

$$(\frac{1}{3} - \frac{2}{3})^2 - \frac{1}{5}(\frac{1}{5} + (\frac{2}{5})^2) = \frac{44}{1125}$$

$$(\frac{1}{2} - \frac{1}{3})^2 - \frac{1}{5}(\frac{1}{4} + \frac{1}{3}) = (-\frac{4}{45})$$

$$(5 + \frac{1}{2})^2 + \frac{1}{3} + 4^2 + \frac{1}{2} = \frac{565}{12} = 47\frac{1}{12}$$